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Home education by Educo

COUNT THE
APPLES

llearn to
count up to 10

EN: Fill trees with the amount of red apples, indicated
by a number symbol and dots. Complete trees with
green apples up to 10. Develop fine motor skills. NL: Vul
de bomen met evenveel rode appels, als aangegeven
met stippen en een getalsymbool. Vul de bomen aan
met groene appels. Ontwikkel het aanvullen van
getallen tot en met 10 en de fijne motoriek. DE: Die
Baume mit einer Anzahl roter Apfel entsprechend
Punktzahl und Zahlensymbol fiillen. Dann die B&ume mit
grunen Apfeln vervollstandigen. Dabei das Ergdanzen im
Zahlenraum 10 und die Feinmotorik iiben. FR: Remplissez
les arbres avec autant des pommes rouges indiquées,
avec des points et un symbole numérique. Complétez les
arbres avec des pommes vertes. Développer I'ajout des
chiffres jusqu'a 10 et de la motricité fine. SP: Llena los
arboles con tantas manzanas rojas como se muestra en
los puntos y en el simbolo numérico. Completa los
arboles con manzanas verdes. Desarrollar la suma de los
nimeros hasta 10 y las habilidades motoras finas.CN: %))
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Instructions
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Het cijfer en het aantal stippen geven dit aantal aan.
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EN: Place the right amount of red apples into the tree. This is indicated by a

number symbol and dots. NL: Plaats het juiste aantal rode appeltjes in de boom.

entsprechend der Zahl und Punkteanzahl in den Baum legen. FR: Dans l'arbre,
placez la bonne quantité de pommes rouges. Le nombre et aussi la quantité de
points indiquent ce nombre. 8P: Coloca la cantidad correcta de manzanas rojas

en el arbol. La cifra y el nimero de puntos indican cudntas debes colocar. CN: 4

DE: Die Anzahl roter Apfel

EN: Place the right amount of red apples into the tree. Fill the rest of the tree with green apples. Make the sum: ‘3 red apples
and 7 green apples make 10 apples together.” In this way, you practise splitting up numbers up to 10. NL: Plaats het juiste aantal
rode appeltjes in de boom. Vul de boom verder met groene appeltjes. Maak de som: ‘3 rode appeltjes en 7 groene appeltjes is
samen 10 appeltjes.’ Oefen zo alle splitsingen van het getal 10. DE: Die richtige Anzahl roter Apfel in den Baum legen. Dann den
Baum weiter mit griinen Apfeln fullen. Diese zusammenzahlen: ,,3 rote und 7 grine Apfel sind zusammen 10 Apfel.” Dabei alle
Zahlzerlegungsméglichkeiten der Zahl 10 iiben. FR: Dans l'arbre, placez la bonne quantité de pommes rouges. Continuez &
remplir I'arbre avec des pommes vertes. Faites le calcul : "3 pommes rouges et 7 pommes vertes font 10 pommes." De méme
maniére, pratiquez toutes les divisions du nombre 10. SP: Coloca la cantidad correcta de manzanas rojas en el arbol. Continda
llenando el arbol con manzanas verdes. Haz la suma: "3 manzanas rojas mas 7 manzanas verdes igual a 10 manzanas". Practica

todas las divisiones del nimero 10 de esta manera. CN: JHUE [ B AU 9L SR 2R b IS A BERsER .
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EN: Place the right amount of apples into the tree. Use both red and
green in different ways: ‘6 is 5 red and 1 green, but 6 is also 4 red and
2 green, or 6 is 3 red and 3 green'. In this way, you practise splitting
up numbers up to 10. NL: Plaats het juiste aantal appeltjes in de
boom. Gebruik beide kleuren op verschillende manieren: ‘6 is 5 rood
en 1 groen’ maar ‘6 is ook 4 rood en 2 groen’ of ‘6 is 3 rood en 3
groen’. Oefen zo alle splitsingen van de getallen tot 10. DE: Die
richtige Anzahl Apfel in den Baum geben. Dabei beide Farben
unterschiedlich einsetzen: 6 ist 5 rote und 1 griiner”; aber ,6 ist auch
4 rote und 2 griine “ oder ,,6 ist 3 rote und 3 griine”. Dabei alle
Zahlzerlegungsméglichkeiten im Zahlenraum 10 iiben. FR: Dans
I'arbre, placez la bonne quantité de pommes. Utilisez les deux
couleurs de maniére différente : "5 rouges et 1vertes font 6" mais "4
rouges et 2 vertes font 6 aussi" ou "3 rouges et 3 vertes font ". De
cette fagon, pratiquez toutes les divisions de tous les nombres jusqu'a
10. SP: Coloca la cantidad correcta de manzanas en el arbol. Usa
ambos colores de diferentes maneras: "6 es igual a 5 rojos y 1 blanco"
pero "6 también es igual a 4 rojos y 2 blancos" 0 "6 es igual a 3 rojos
y 3 blancos". Practica todas las divisiones de los nimeros hasta el 10
de esta manera. CN: T B EFEUR AR ERR L, LI
EREOARRMATR, Bl “6nT BURSLLANL, {Hetin] DUZ4£0in
24k, BAERILMBL” o MM, ZS10ANEII M.

EN: Place the right amount of red apples into the tree. Can you make with 2 other
boards the same amount? For example: 7 red apples on a board equals 7 red apples
on board 3 and 4 together’. NL: Plaats het juiste aantal rode appeltjes in een boom.
Kun je met 2 andere plankjes dezelfde hoeveelheid maken? Bijvoorbeeld: 7 rode
appeltjes op een plankje is evenveel als 7 rode appeltjes op plankje 3 en 4 samen’.

DE: Die richtige Anzahl roter Apfel in den Baum geben. Kann mit 2 anderen Brettchen
dieselbe Anzahl erreicht werden? Beispiel: 7 rote Apfel auf einem Brettchen sind

genauso viel wie 7 rote Apfel auf den Brettchen 3 und 4 zusammen. FR: Dans l'arbre,
placez la bonne quantité de pommes rouges. Peux-tu faire le méme montant avec 2
autres planchettes 7 Par exemple : les 7 pommes rouges sur le planchette sept,

équivaut aux 7 pommes rouges sur les planchettes trois plus quatre. SP: Coloca la
cantidad correcta de manzanas rojas en un arbol. ;Puedes hacer la misma cantidad
con otras 2 tablas? Por ejemplo: 7 manzanas rojas en un tablero son iguales a 7
manzanas rojas de los tableros 3y 4 juntos. CN: J5UFE IERfEUHE ML R A 1, 1k
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